
? 









Find the missing one  (?)

2F : FD :: 3D : ?

(A)  HU

(B)  HA

(C)  HO

(D)  HI



Find the missing :-

441 : 7 :: 361 : ?

(A) 8
(B) 9
(C) 10
(D)12



Find the missing :-

1921:  EO :: 159 : ?

(A) AF
(B) OU
(C) EA
(D)OP



Find the missing :-

(A)05
(B)00
(C) 10
(D)04

00 05 ?

06 15 20

08 04 05

03 05 20



Find the missing :-

RAT : 912  :: HUT : ?

(A) 82020
(B) 833
(C) 1962
(D) 823



Statement :-

All Women are Doctors . / सभी महिलाएं डॉक्टसस िैं।

Some Doctors are Advocate./ कुछ डॉक्टर एडवोकेट िैं।

Conclusion:-

All Doctors are Women ./ सभी डॉक्टर महिलाएं िैं।

Some Women are advocate ./ कुछ महिलाएं वकील िैं।

No Women are Advocate./ कोई भी महिला एडवोकेट निी ं िैं।



Find the SQUARE :-

(A) 9 
(B) 8
(C) 7 
(D)10



Find the MISSING  (?)

169 : 10 :: 144 : ?

1. 8
2. 12
3. 18
4. 6



Statements: कथन :
Some politician are sinister./ कुछ राजनेता पापी होते हैं।

All sinister is a bureaucrats. / सभी पापी नौकरशाह हैं।

Conclusions: ननष्कर्ष:
I. Some bureaucrats are not sinister./ कुछ नौकरशाह पापी नही ीं हैं।

II. No politician is a bureaucrats. / कोई भी राजनेता नौकरशाह नही ीं है।



Find the option which should replace (?)

25 : 64 :: 35 : ?

(A) 64

(B) 81  

(C) 72
(D) 100



Find the triangle :-

(A) 09

(B) 10

(C) 11 

(D) 12



Find the odd (?)

(A) Vitamin A : Loss of vision

(B) Vitamin B : Beriberi

(C) Vitamin K : Haemorrage

(D) Vitamin D : Peralysis



A is brother of C . D is wife of M who is only son of N 

.C is daughter of D. How is N related to A ?

A, C का भाई िै। D, M की पत्नी िै जो केवल N का पुत्र िै। D, 

D की बेटी िै। N, A से कैसे संबंहित िै?

(A)Father / पापा

(B) Grandfather / दादा

(C) Uncle / चाचा
(D) CND / CND



Find the option which should replace (?)

(A) 25

(B) 20

(C) 22

(D) 13



Find the in Dictionary order :-

1. Wrist / कलाई

2. Nails / नाखून

3. Shoulder / कंिा

4. Elbow / कोिनी

5. Palm / िथेली

6. Fingers / उँगहलयाँ

A- 1 ,2,4,3,5,6
B- 3,4,1,5,6,2
C- 1,2,3,4,5,6
D- 2,1,4,3,5,6



Find the missing (?)

120 * 256 * 32 *40 * 88

(A) - ÷ = +

(B) + = - ÷
(C) + - ÷ =

(D) + ÷ - =



Find the missing (?)

4 @ 5 = 209

6 @ 7 = 601

8 @ 2 = ?

(A) 620

(B) 495

(C) 540
(D) 536



Find the missing (?)

RELATIVE  =  MFSCVHYL

NUMBERED =?

(A) NVOCFSFE
(B) NVODGGHU
(C) NVOGDSFE 
(D) NVOCFDGG 



Find the missing (?)

47 , 57 , 69 , 85 , ?

(A) 109
(B) 101

(C)   92
(D)  95



Find the missing (?)

Mahatma =  Rabindranath Tagore /मिात्मा = रवीदं्रनाथ टैगोर

Netaji  =? / नेताजी =?

(A) Gandhi / गांिी
(B) Naroji / नरोजी

(C)  Hitler / हिटलर
(D)  Devdutt / देवदत्त


